FgArea: [0 ]
NC11 G3-3
2025-06-10 (Day 29)




1600 ~
1400 ~
1200 ~
1000 ~
800 -
600 -
400 -
200 -

1600
1400
1200
1000
800 -
600 -
400 -
200 -

VO

—-o— VI
——

—o— 3 VWN
o

1500 2000 2500 3000
DU

1000

500

25

20

15

10

===

1750 -
1500 -
1250 A
1000 -
750 A
500 -
250 -

1750 A
1500 -
1250 -
1000 -
750 A
500 -
250 -

- Vi
—0— VO

25

20

15

10

- 2 VN
o 0

1500 2000 2500 3000
DU

1000

500

—@— 4 setVlI

S

25

20

15

10

IIIIIIIIIIIIIIIIII  eep———— ———

1500 2000 2500 3000
DU

1000

500

25

20

15

10

500 - m

1750 ~
1500 ~
1250
1000 ~
750 -
250 -

o
T T T T T T T
Te) o ) o o) o T
~ ~ © © Irs) ) <
o o o o o o o

T T
o o
N o
— —
>
]
[}
(2]
™
®
T T T T T
o o o o o
N o © © <
— —
>
o)
[}
2]
N
®
T T T T T
o o o o o
N o <o © <
— —

—o— VI
—0— VO

25

20

15

10

T T T T T T T T
[=] (=] o (=] (=] o o o o
[=] (=) (=] (=] o (=] o o
© < N o [ee] © < N
=
>

1

1500 2000 2500 3000
DU

1000

500

25

20

15

10

1750 ~
1500 ~
1250
1000 ~
750 -
500 -
250 -

1750 ~
1500 ~
1250 ~
1000 ~
750 -
500 -
250 -

®
S
%)
> i 4
> °
[ ]
[ )
o
T T T T T T T T
o o o o o o o o
o o o o o o o o
© < N o o] © < N
— — — —
o
S
%) o0
> o
>
™ ..
[ ]
o
®
T T T T T T T
o o o o o o o
re) =) re] =] re] S re]
~ s 59 S ~ rs) N
— — — —
o
S
2 ”1
=
o o
®
([ ]
. «
T T T T T T T
o o o o o o o
re) =] re] o re) =] re]
~ T 59 S ~ X 59
°® o
o
S
%)
> N
>
") J
- ()
( ]
o,
o
T T T T T T T
o o o o o o o
re) =) el o e =) re]
~ s Y S ~ Irs) [5Y
— — — —

80 ~
0_
40

T T

o o

N o ©
— —

25

20
d
= NA)

15
4 (fgArea

10

25

20
d
= NA)

15
3 (fgArea

10

25

20
d
= NA)

15
2 (fgArea

10

25

20
d
= NA)

15
1 (fgArea

10

o]
N
L ©
N
| ©
—
| ©
—_
a2
o
—
*
o -
(o ]
w T
T T T T T T
o o o o o o
o o o o o o
o Yol o el o o
< ™ ™ N N —
| O
N
| ©
N
| O
—
| ©
—_
= — ]
o
—
*
o -
o O
w L)
T T T T T T T T
o o o o o o o o
o o o o o o o o
o o o Lo o 9} o Lo
< ™ ™ N N — —
=
o
—
*
o -
o O
w ol | ©O
N
| ©
N
| ©
—
| ©
—_
- O
T T T T
o o [=] [=]
o o (=] (=]
Tl o Tel o
(32) ™ N N
| O
N
L ©
N
| O
—
| ©
—_
a2
o
—
*
o -
(o ]
w w T
T T T T T
o o o o o
o o o o o
o o o o o
© 9] < ™ N



o o
~ .

N o [ce] © < N o [ce]

~ ~ © ©

PHI*10%

N o © © < N o <

~ ~ > © ©

(3] o [ee] © < N o [ce]

~ ~ © © © © © 15}




Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-3 0
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G3-3_0, Day=28 (2025-06-09)
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M_E

T T
780 785

m=980,m FV0=0

64

63

62

61

60

——

M_E

980

985 990

m=650,m FV0=0

40 -

38 -

36

34 -

32 -

30 A

28 A

——

M_W

650

655 660

62.

60.

57.

55.

52.

50.

47.

m=523, FV0=0

——

M_E

525 550 555
m=830,n FV0=0

62 —o—

61 -

60

59 -

58 A

57_| T T

M_E

454 —@— MW

40 -

35 -

30 -

25 A

400 660 860
m=700,n FV0=0

1000

40 -

38 -

36

34 -

32 -

30 -

i

M_W

]

700 705 710

m=650, FV0=0

60 -

58 ~

56

54

52 -

——

M_E

T T
655 660

m=875,m FV0=0

62

60 -

58 ~

56 -

——

M_E

T T
880 885

m=430,m FV0=0

38 A

36

34

32 -

30 -

28 A

26 -

——

M_W

430

435 440

m=775,m FV0=0

40 -

38 -

36

34 -

32 -

30 -

——

M_W

775

780 785




m=830, FV0=0

421 —— MW
40 -
38 1
36
34 4
T T T
830 835 840

m=875, FV0=0

42 -

40 -

38 A

36

34 A

——

M_W

875

T
880

T
885

m=925, FV0=0
44 - —— MW
42 4
40
38 -
925 930 935

m=980, FV0=0
46 —— MW
44
42 4
40
980 985 990
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G3-3

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R

06:10 136 120.0 2.592 = {RRiB006:10 B (RAKEE)
06:55 136 120.0 2.592 E 1BRi&e06:55 Bah (RAERE)
07:55 136 120.0 2.592 5| 1Ri&@07:55 Bz (KREAEES)
09:10 136 120.0 2.592 =l RRiB009:10 Bz (RFAEEE)
10:10 136 120.0 2.592 =l RRiB010:10 Bzh (REAEEE)
11:05 136 120.0 2.592 S {Ri%e11:05 Bz (RAERSE)
11:55 136 120.0 2.592 =l {Rige11:55 B3 (RAERSE)
12:55 136 120.0 2. 592 Sl {Rige12:55 B (REAERSE)
13:40 136 120.0 2.592 E| {Rig013:40 B3h (RE{ERSE)
14:20 136 120.0 2.592 E BRige14:20 Bz CGRAERESE)
15:00 136 120.0 2.592 S| {Ri%@15:00 B3 (KRAERSE)
15:40 136 120.0 2.592 E BRige15:40 Bz (GRAERESE)
16:20 136 120.0 2.592 F BRige16:20 Bz (GRAEREE)
17:00 136 120.0 2.592 =l {Rig@17:00 B3 (RAERSE)
23t 1904.0 (14)%) 1680.0 3 HKEC: 2500.0, PH: 6.5

large discrepency for begining water status (220:27.0), set to 220 ml
REXEBIPH (10.52) 5i&EPH (6.5) RER KA, HFHE
REXFEBIPH (10.52) 5FMPH (6.5) RERK, EHRE
[Bl/&REC 3832.0 K&, ZiNFAIRECAE R IMIEER
PE[EIRECE (2698. 0 vs 3832.0) RS
EXRGEBPH (10.4) 5% EE (6.5) REKK, BRE.
LERGEBIPH (10.4) S51REEN (6.5) RERK, BERE.




G3-3_0, Day=27 (2025-06-08)

1004 V1. VO, FRV,ET ~ VI, VO, FVI, VO, FRV, ad jFRV, ET 1900 1gh330 | 2000
383 1500
1200 ;g0
i L 1000
50 663
L 500
32 Warning: lcol [FVI',| "FVO’'] missing 95
0+ = -0
_ v | — ME PO
T FRV maxM
£ 100 - | L 50
©
: | y
— | =
E o] EEEEEN 40
=>
2 i [ I HERRARR -
1.0
U
0.8 -
0.6 -
0.4 -
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
0.0
optEC0=1800. 0, setECB=2500. 0 —¢  ECB*10%
® ECC
2800
C Y o o
% o® ®
2600 - ° .‘QQ“Q.
_____________________________________________ S = —— e [ S N
e O o o o0
104 optPHO=6.5, setPHB=6.5 © 6 pooohocere —%—  PHBX10% f*
® PHC
8_
---------------------- B S S N Y Sy ———
6_
' 4
~ 300 4 Bylni# @D29 01:35: ET=1257 Fg=1600.0 Ro=342.0 - 3000
!
2200 A : - 2000
< : - e— — —
= 100 - : - 1000
o i
- -

0 p—ap P4 0
0] 1] 2] 3] 4] 5 7] 61 7] 819 [10] 11 ] 12[13] 1415 ][16] 17 18] 19] 221 ]22] 23
5300 | % | % | % | % | % | % | % | % | W | M | M | FE | RE | P& | F& | P& | & | & | M5 | W& | A& | RE | FE 3000

< 1
%_ ByEt @D27 19:07: ET=2112 EFg=1960. 0 Ro=nan 1
< 200 §—eo—e—o—o | 2000
<
E
=~ 100 - L 1000
o
0 p—onn ——! S 0
0]l 1] 2] 3] 4] 5 7] 61 7] 81 9 1011 12[13] 1415 ]16] 17 18] 19] 221 ] 22 23
5300 & | % | W | % | m | m | W | | | % | % | W | m | m | W | W | | B | B | B | @ 5% 8% B 3000
= 1
%_ ByWoFVv @D29 01:35: ET=1383 Fg=1680.0 Ro=335.0
< 200 4 : - 2000
< I ®
= 100 : T E B - - 1000
1
Lo te—e e e I .
CT 0 [ 1] 2| 3] 4] 51161 7] 879 10111213 ([14]15][16] 17 18] 192072122 23
0ol FE | W | M | # | P& | W | & | M | hE | A | M& | RE | & | Ms | R | P& | AE | W | M | BB | B |25 B %%
0.6 -
0.4 -
0.2 -
0.0
—_— 4
1500

[ ] | _obs
—@— PPFD obs

e v P

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=390, FV0=0 m=425, FV0=0 m=485, FV0=0

50 - —o— ME 99 1 —e— ME 50 - —— ME
45 1 50 - 45
40 -
45 -+ 40 -
35 -
40 35 4
30 -
T T T T T T T T T T T T T
400 600 800 1000 390 395 400 425 430 435 485 490 495
m=545,m FV0=0 m=595,m FV0=0 m=640,m FV0=0 m=685,m FV0=0
50 A
—o— ME 45 —— ME 45 —— ME 45 —o— ME
45 -
40 40 1 40 -
40 -
35 - 35 1 35 -
35 4
30 30 1 30
30 1
T T T T T T T T T T T T
545 550 555 595 600 605 640 645 650 685 690 695
m=725,m FV0=0 m=755,m FV0=0 m=785,m FV0=0 m=815,m FV0=0
55
. —o— ME —o— ME 55 1 —o— ME 55 —— ME
5 -
50 -
50
50 -
401 45 -
45 -
39 1 40 - 45
40 -
30 - 35 1 40 -
35 -
T T T 30 - T T T T T T T T T
725 730 735 755 760 765 785 790 795 815 820 825
m=845,m FV0=0 m=875,m FV0=0 m=905,m FV0=0 m=935,m FV0=0
56 -
55 4 —o— ME 55 0 —— ME 5. 0 - —e— ME —— ME
54 -
52.5 52.5
50 4 59 |
50. 0 50. 0
50 -
47.5
45 — 47 5 T 48 _
45.0
45.0 46 -
40 - 42.5 -
42.5 44 1
845 850 855 875 880 885 905 910 915 935 940 945



m=965, FV0=0 m=995, FV0=0 m=1025, FV0=0 m=1053, FV0=0

58
—o— ME 58 - —o— ME —o— ME —o— ME
56 - 58 -
56 58
54 - 56
54 -
52 - 56 -
54 -
50 - 52 -
54 -
48 - 50 - 52 1
46 48 50 4 59
T T T T T T T T T T T T
965 970 975 995 1000 1005 1025 1030 1035 1055 1060 1065
m m=390,m FV0=0 m=425,m FV0=0 m=485,m FV0=0
og | —@— MW 34 - —— MW 24 —o— MW
26 - 321 32 1
30 - 30 -
24 -
28 - 28 7
22 - 26 -
26 -
20 - T T T T T T T T T T T T T
400 600 800 1000 390 395 400 425 430 435 485 490 495
m=545,m FV0=0 m=595,m FV0=0 m=640,m FV0=0 m=685,m FV0=0
34 32 A
—— MW 32 —— MW —— MW —o— MW
32 - 30 4 30 -
30 -
30 - 98 28 -
28 -
28 26 - 26
26 -
26 - 24 24 1
24 -
24 - 22 - 22
22 -
545 550 555 595 600 605 640 645 650 685 690 695
m=725,m FV0=0 m=755,m FV0=0 m=785,m FV0=0 m=815,m FV0=0
—— MW —— MW —— MW 38 1 —— MW
30 1 34 1 i
36
36 -
28 - 327 34 -
30 39 34 7
26 -
i 32 -
28 20
24 26 - 30 4
28 -
29 24 - i
26 28
725 730 735 755 760 765 785 790 795 815 820 825



m=845, FV0=0

38

36 -

34

32 -

30 -
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—0—

M_W

T
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T T
850 855

m=965,m FV0=0

40

38 -

36

34

32 A

—0—

M_W

T
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T
970 975

m=875, FV0=0

40 -

38 -

36

34 -

32 -

30 -

—0—

M_W

T
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T T
880 885

m=995,m FV0=0

40 A

38 A

36

34

32 -

—0—

M_W

T
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T
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T
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40 A

38 -

36

34 1

32 -
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40 -

38 -

36

34 -

m=905, FV0=0

—0—

M_W

905
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m=1025n FV0=0
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M_W

T
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T
1030

T
1035

m=935, FV0=0

38 A

36

34 -

32 A
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—0—

M_w

T
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T T
940 945

m=1055m FV0=0
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38 A
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T
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T
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T
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G3-3

BfiE) | GEBATK (RY) | EHRE (EA/K) | ERERE (B/R) | XS R

06:05 140 120.0 2.592 E 1BRi&e06:05 Bzl (RAEREE)
07:00 140 120.0 2.592 = {BRi8@07:00 B (FRFAEEE)
08:00 140 120.0 2.592 = {RRi8008:00 B (FRFAEEE)
09:25 140 120.0 2.592 = RRiB009:25 B (REAEEE)
10:40 140 120.0 2.592 = RRi8010:40 Bz (REAEESE)
11:45 140 120.0 2.592 = {Rige11:45 B3 (RAERSE)
13:00 140 120.0 2.592 =l RRiB013:00 B3 (RAKEE)
13:50 140 120.0 2.592 E| {Rig@13:50 B3h (RE{ERSE)
14:40 140 120.0 2.592 E BRige14:40 Bz CGRAERESE)
15:30 140 120.0 2.592 =l RRiB015:30 B (RFAKEE)
16:20 140 120.0 2.592 El BRi%e16:20 Bzl (GRAERERE)
17:10 140 120.0 2.592 F[ BRige17:10 Bz CGRAERESE)
2it]1680.0 (12)%) 1440.0 3ZHKEC: 2500.0, PH: 6.5

EIREBIHCRIRAREZ I (140 vs 207.0))

ERIASLPRIEHE81. 0 ml.

FEREBIPH (10.49) 5igFEPH (6.5) REK K, T
REXRERIPH (10.49) 5FMPH (6.5) REKK, HFHRE
LRGEBIEC (2765.0) S51REIEY (2340.0) REK K, BHHRE.
LORGEBIPH (10.5) 5i&EE (6.5) wERKK, BRE.
LERGERPH (10.5) SiRBIE (6.5) RERK, BRE.




G3-3_0, Day=26 (2025-06-07)

100 -

VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1200 4b36sa
- 1000
730 9203
50 7 L 500
13 Warning: lcol [FVI',| "FVO’'] missing 39
0 = -0
_ 100 4 mmm vI — ME
T FRV maxM | 20
t 751
©
= - 40 w
— 501 =
E
- 30
= 254
[
- 20
1.0
4
0.8 4
0.6
0.4 4
0.2 4
Warning: lcol ["WC1',  "WC2'] missing
0.0
3200 4 optECO=1800. 0, setECB=2500.0 —¢  ECB*10%
[ ] ECC
3000 -
2800 -+
2600 -
2400 +
e o o ° ) ° ® 060 0 0000
104 optPHO=6.5, setPHB=6.5 —¢  PHB*10%
[ ] PHC
8_
6_
1
; 2000
3009 Bylnik @D29 01:35: ET=863 Fg=960.0 Ro=32.0
S : L 1500
2200 A :
£ ! 8§ —8& 8 8 [1000
£ 100 - I
— I - 500
. ) o—t+o—0—o— I I\
|
0 bl o o | —— 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 L 2000
3 00 HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
’_D B B B B B B B B B B B B B B B B B B B B B B B B
c 1
= 00| BYEt @026 19:08: ET=1066 Fg=1120.0 Ro=nan [ - 1500
N
< ¢ Lo
E 1
= 100 - ~ 1
— : - 500
Ll
b S @ S @ — I I I I I
0 p—a P Y — \:\ 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 L 2000
3 00 HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES E3 E3 HEE ES E3 E3 ES ES E3 E3 ES ES
’_D B B B B B B B B B B B B B B B B B B B B B B B B
c [
= p00 | BYWoFy @029 01:35: ET=1083 Fg=1440.0 Ro=280.0 e o o o o [1500
N
o 1
< i - 1000
E |
= 100 I i
— : - 500
Ll
p o re e e o |
1.0 p—mapn Le (W o 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
gl P | ¥ | W | w5 | W | # | % | #s | w5 | W | W | W | Fs | B5 | W | ® | W5 | Fs | Bs | R | W | W5 | B | B
0.6
0.4 4
0.2 4
0.0
1500 1 —_— 4

[ ] | _obs
—@— PPFD obs

80 -

60

40 -

RH_obs
RHo_obs

o VPD

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=345, FV0=0 m=405, FV0=0 m=465, FV0=0

45 —— M_E —o— ME 50 ® M_E
50 A
40 - 45
45 -
35
40
40 ~
30
35 A
25 - 35 -
-— ME
T T T T 20 - T T T T T T 30 - T T T T T
400 600 800 1000 345 350 355 405 410 415 466 468 470 472 474
m=545,m FV0=0 m=615,m FV0=0 m=685,m FV0=0 m=755,m FV0=0
- MNE - MNE 10 4 - MNE 40 - - ME
40 -
40 -
- 35 -
35 - 35
35 A
- 30 -
30 - 30
30 A
- 2 -
25 25 5
25 A
T T T T T T T T T T T T
545 550 555 615 620 625 685 690 695 755 760 765
m=800,m FV0=0 m=835,m FV0=0 m=880,m FV0=0 m=920,m FV0=0
45 - MNE - MNE 45 —-o— MNE - MNE
45 45 -
40 ‘0.
40
40 -
35 +
35 35 1
35
30 A
30 - 30
30 A
25 T T T T T T T T T T T T
800 805 810 835 840 845 880 885 890 920 925 930
m=955,m FV0=0 m=990,m FV0=0 m=1025n FV0=0 m
55
-— ME -o— ME —@— ME - MW
50 A 50
30
50 A
45
45 25
45 -
40 - w0 20
40 -
35 1 |
35 15
955 960 965 990 995 1000 1025 1030 1035 400 600 800 1000



m=345, FV0=0

19 +

18

17 4

16

15 4

14 4

—— MW

345 3%0 3%5
m=615,n FV0=0

22 A

21 -

20 -

19 4

18 1

—o— MW

615 650 6&5
m=835,n FV0=0

28

26

24 -

22 -

20 ~

—— MW

835 8&0 8&5
m=990,n FV0=0

32 -

30

28

26 -

24 ~

-o— MW

i

990 995 1000

24

22 -

20 A

22 -

20 -
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28 A
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24

22 -

20

32 -

30 A

28 -

26 A

m=405, FV0=0

06 —o— MW
405 410 415
m=685,m FV0=0

—— MW
685 690 695
m=880,m FV0=0

—o— MW
880 885 890
m=1025m FV0=0

‘/,Q

1025 1030 1035

m=465, FV0=0
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28
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T
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21 4
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18 +

17 4
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——

M_W
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T T
760 765

m=920,m FV0=0
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28 -

26 -

24 -

22 -

—0—

M_W
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925 930

m=545, FV0=0

28 -

26 A

24 ~

22 A

20 -

—— MW
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5é0 5%5
m=800,n FV0=0

23 A

22 -

21 -

20 A
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—o— MW

800

865 8i0
m=955,n FV0=0
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G3-3

BfiE) | GEBATK (D) | EHRE (EA/K) | ERERE (B/R) | XS ERE

06:10 138 120.0 2.592 E BRi&e06:10 Bzl (RAERE)
07:00 138 120.0 2.592 E|  {Ri1&@07:00 B3h (RFE{ERLEE)
07:50 138 120.0 2.592 = {RRi8007:50 B (RFAEEE)
08:50 138 120.0 2.592 = {RRiB008:50 Bz (RFAEEE)
10:05 138 120.0 2.592 5| {Ri%@10:05 B3 (RAERSE)
11:15 138 120.0 2.592 =l {Rige11:15 B3 (GRAERSE)
12:25 138 120.0 2. 592 S| {Rige12:25 B3 (REAERSE)
13:25 138 120.0 2.592 E| {Rige13:25 Bah (RE{ERSE)
14:15 138 120.0 2.592 E BRige14:15 Bz CGRAERESE)
15:05 138 120.0 2.592 S| {Rige15:05 B (RAERSE)
15:55 138 120.0 2.592 =l Fzhe15:55 B3 (RFAEDSE
16:45 138 120.0 2.592 F BRige16:45 Bz (GRAERRE)
2it]1656.0 (12)%) 1440.0 3ZHKEC: 2500.0, PH: 6.5

EREB AT RIRIE R (300 vs 207.0))

FRINKPREBE174.0 ml.

large discrepency for begining water status (219:54.0), set to 219 ml
RERSERIPH (10.53) 5i&EPH (6.5 REKK, BT

REXJEBIPH (10.53) 5FMPH (6.5) RERK, FHRE

ERGEBIEC (2844.0) SHEEIEIN (2340.0) RERK, BHWE.

LRGEBPH (10.4) 5igEE (6.3) REKK, BHRE.

LERGEBIPH (10.4) S5iREEY (6.5) RERK, HRE.



G3-3_0, Day=25 (2025-06-06)

100 | V1. VO.FRV, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET 1167

550 687 730 953
50 - 55 i
8 |18 Warning: lcol [FVI',| "FVO’'] missing 13
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Warning: lcol ["WC1',  "WC2'] missing
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50

45 -

40 -
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